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500LK %5
LPG 697, 831 1,477 0 2,125,315 5,191 0
PG 82,493 0 0 221,126 165 0
LG 113, 059 0 0 327, 740 161 0
AG 2, 000 3,000 0 1,708 3,000 0
LT 2,260 1,050 0 6,121 2,249 0
LNGV 0 0 0 0 0 0
(LTL 0 0 0 0
(LDH 0 0 0 0
CHGGV 84 0 0 273 115 0
Z Dt 126 0 0 547 110 0
wrEgA | 897,853 511 | ) 2,688,830 1 et [ 0
AETERA L ) 129.8 101.8 0.0
o 1 S s33%0 | 2699821 ]
HEERALE %) 129.7

500L 1A £ 1000L 5k 5
LPG 0 0 0 0
PG 519 0 670 0
LG 860 590 14 1,150
LT 0 0 0 0
wnL 0 0
(LDH 0 0
CHGGV 0 0 0 0
ZDfth 14 0 173 0
wrEgAr | 14 sof | [ 4o _tisol [
HEERAE %) 302.5 884. 6
L 2 17—
HaTERALE %) 0.2

1000LELE
LPG 1,180 562 46 2, 654 1,304 179
PG 0 18 0 22 18 0
LG 201 69 2 407 198 5
LT 32 22 4 175 12 30
(LNDL 0 0
(LDHH 0 0
CHGGV 0 0 0 0 0 0
Z0fth 0 6 4 112 61 4
mEEmAR | raig[ 7] .| | _sa[  iess[ 28
XABIERAL () i 97.3 107.4 96.5
eS| 2w __________________ s
HAERAE () | 0.3
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EEgst o | of of of o ________ 1} of _________ ] 0
AETERALE (h) 0.2 0.0 0.0 0.0
crevhEmest | | o | (A
HpERAL %) 0.0
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